ERASMUS TEST DATE:

Fakulta stavebni CVUT
Katedra jazykd

ERASMUS TEST 1 - KEY

Bodové hodnoceni:

CAsT BODY MAXIMUM
LISTENING 10
READING 12
USE OF ENGLISH 46
WRITING 20
CELKEM 88

PREPOCET NA ERASMUS SCALE:

Exam scores = CEFR levels

Erasmus Exam | CTU Points CEFR Level

50- 54% 10 B1/B2 BORDERLINE
55-59% 11 B2 LOWER END

60-64% 12 B2 MIDDLE (LOWER BAND)
65-69% 13 B2 MIDDLE (UPPER BAND)
70-74% 14 B2 TOP END

75-79% 15 B2/C1 BORDERLINE
80-84% 16 C1 LOWER END

85-89% 17 C1 MIDDLE (LOWER BAND)
90-94% 18 C1 MIDDLE (UPPER BAND)
95-100% 19 C1 TOP END

Additional Oral |20 C2




ERASMUS TEST

LISTENING
1 occurring
substances
2 insulation
3 stone
4 compressed earth
5 flame retardant/
flame-retardant
6 plaster
7 available
8 remains
9 bending
10 moisture-related
AUDIO LINK:

http://departments.fsv.cvut.cz/k104

/index.php/2022/12/22/vzorovy-

test-erasmus/

LISTENING TOTAL /10

DATE:

READING1 | A
2 I
3 D
4 C
5 F
6 J
7 Answer: B =in

urban areas

Answer: D = Mass

use of

Answer: E = seven

times

10

Answer: G = cities
and

neighbourhoods

11

Answer: H =
decentralise city

life

12

Answer: J =
Electronically

tolled

READING TOTAL /



http://departments.fsv.cvut.cz/k104/index.php/2022/12/22/vzorovy-test-erasmus/
http://departments.fsv.cvut.cz/k104/index.php/2022/12/22/vzorovy-test-erasmus/
http://departments.fsv.cvut.cz/k104/index.php/2022/12/22/vzorovy-test-erasmus/
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USE OF ENGLISH

OPEN CLOZE - (1 point/correct answer)

from

the

a

them

SO

this (that)

only

00| N o | B W N| =

why

OPEN CLOZE /8

WORD FORMATION — use CAPITAL letters — (1 point/correct answer)

1 KNOW —
unknown

y) MOUNT —
mounted

3 REPLACE —

replacement

4 FRAGILITY —
fragile

5 USE — usage

6 CIRCLE — circular

7 CONSEQUENCE -

consequently

8 VALUE - valuable

WORD FORMATION /8
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KEY WORD TRANSFORMATIONS — (2 points/correct answer)

1 NO CIRCUMSTANCES -- SHOULD YOU
2 HAS TAKEN -- OVER THE

3 THERE IS -- NO KNOWING

4 HAVE -- GAINED ENTRY/ACCESS

5 IS CAPABLE OF -- WINNING

6 GIVE UP BASKETBALL -- CAME

7 BEING -- TAKEN FOR GRANTED

8 TO GET MY PASSPORT -- RENEWED
9 WAS WONDERING -- IF YOU WERE/WOULD BE
10 SEE NO POINT -- IN

11 HAVE A NEGATIVE EFFECT ON

12 DEALS WITH THE COORDINATION OF
13 THINK OF SAFETY

14 THERE IS A PROBLEM OF

15 A NEED FOR MORE INFORMATION

KEY WORD TRANSFORMATIONS /30

USE OF ENGLISH TOTAL: /46
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WRITING (max. 20 points)

TOPIC: NAME:

DESCRIPTOR COMMENTS POINTS

max 4 per descriptor

Task achievement/response

Coherence and cohesion

Lexical resource

Grammatical range

Accuracy

WRITING TOTAL: /20

Sample writing: task 1 - an academic-style text

The diagram displays how a hydroelectric power plant produces electricity.
Overall, the production of hydroelectricity is cyclical and consists of four main
parts: storing water high, letting water flow downhill to generate electricity, storing
water low, and pumping water back uphill for reuse.

First of all, the dam stores river water behind it in the upper reservoir that has an
intake at the bottom. During the day, the intake is open, allowing water to flow
through. As the water moves downhill into the lower reservoir, it passes through
the turbines and turns their blades to generate mechanical energy. The spinning
turbines then drive the generator to convert the mechanical power into electricity,
which is subsequently delivered to the national grid through power lines.

During the night when demand for electricity is low, the turbines act as pumps that
pump water kept in the lower reservoir back to the upper reservoir for reuse.
(152 words)
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Sample writing: task 2 - a formal letter (in this case a
letter of application)

Tips on how to write formal letters:
https://engxam.com/handbook/how-to-write-a-letter-of-application-fce-cae-

cpe/



https://engxam.com/handbook/how-to-write-a-letter-of-application-fce-cae-cpe/
https://engxam.com/handbook/how-to-write-a-letter-of-application-fce-cae-cpe/

